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o FUI T F T [F 57 JeT9H 7 JRT 7T 16 T FoT
19 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

° U97-yF H q98 HYT 79 T4 IS TRV F GH FV-Graw
& TELTS q7 fra)
The Code No. on the top of the question paper
should be written by the candidate on the front
page of the answer-book.

° U 97 F TV fi@T & #T 4 Yel, FT FH %
S7eq [
Before beginning to answer a question, its Serial
Number must be written.
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» Fuv-gfkTeEr % diF ¥ @il g/ 91 7 8ig)
Don’t leave blank page/pages in your answer-book.

o FugRam % oRkw g o= A TE AR
77 SFHAGAT & [rd 3T forar FaT T Fe
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o giEreff o7y T To FIT-UA G 39T [E)

Candidates must write their Roll Number on the
question paper.

o gy g F IAT &7 G g7 9F GARTT B G [ FT-I
7 7 @& & e # a9 g9 e § #E A a
BT TEl 9T T

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) @ Fo7 S &
(i) HEAF F97 B [FEiRa oF I T Ry T 8
(iii) 597 T&gr 1 & GIE (i-xvi) TGTS Fo7 7 Fer
T 81 FEF T 1 SF F 8 FIT (i) @ (viii)
T% TEAHANT F97 &1 FAHE F97 & g 77 T

R [Awed 4 @ T 78 %oy g 81 6 geT
(ix) & (xvi) TF T&l a7 TAT THXT B F97 &1
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797 GET 2 § 8 T G- TgAaTE 597 & foriH
J9F 97 2 H F 8 FEF F FTAT GHAT:
30 v @ offg% & & ey

797 @& 9 @ 16 7% TguNeE 597 & [
J9% J97 4 SIFH F &1 Fh9% F FIT G-
60 = @ 9% 78T & TR

g97 GEgr 17 G 19 TF s §97 & [7E
J9%F F97 6 GIFE F &1 Fh% F II7 qHd:
130 9= @ 9% 78T & =Ew

T @rETE 9T 7 oNG g8 YT 81 97
g9 4 @ SYHE FIT T & J97 B 8

(viii) = THT T, TEHE TI @A dd T T

g 7al 8l

General Instructions :

1011

(9
(%)

(111)

All questions are compulsory.

Marks for questions are indicated against
each.

Question No. 1 is divided into Sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. From questions (i) to (viit) are
multiple choice type questions. One correct
option has to be chosen out of four options
in each question. While questions (ix) to (xvi)
are of True and False type questions.

P.T.O.
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()

(v)

(vi)

(vii)

(viii)
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Question Nos. 2 to 8 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed
30 words each.

Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these should normally not exceed 60 words
each.

Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130 words
each.

Internal choice is available in all long
answer type questions. You have to attempt
only one of the given choice.

Word limit is not applicable to formulae,
numerical and diagrammatical questions.

(egfrs )

(Objective Type Questions)

Tl [awey giaT -

Choose the correct alternatives :

@

gitega! frefafead & @ fhos e ST g ? o
(a) ST

(b) TAEH
(c) =9
(d) ST g
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(i)

(ii)
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Statistics is wuseful for which of the
following :

(@) Economist

(b) Producer

(¢) Trader

(d) All of the above

gt Sfieel ® e JId © 1
(a) THR TRIH

(b) U G & TBILH

() St

(d) FE-FTHEN TR

The main source of primary data is :
(a) Government Publication

(b) Publication of Trade Associations
() Questionnaire

(d) Semi-Government Publications

T ARON & g AN Bl o 1
(a) <
(b) Ui
() 9 femofi
(d) ST g+
P.T.O.
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Main components of a table are :
(@) Title
(b) Caption
(c) Head Note
(d) All of the above
(iv) 9B (Z), @9 #Wed (X ) g HiEemw (M) H
T B 1
(a) Zz=3M-2X
(b) Z=3X -2M
(0 X =3Z-2M
(@) FH q PR T

The relation between Mode (Z), Arithmatic
mean (X ) and Median (M) is :

(a) Z=3M-2X

(b) Z=3X -2M

() X =3Z-2M
(d) None of these

(v) TS ST & STEe] Bl © 1
(a) gl
(b) T
(c) SU-TSgufer
(d) gEE
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(vi)

(vii)
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The chairman of Planning Commission is :
(a) President
(b) Finance Minister
() Vice-President

(d) Prime Minister

qe faemE gasdie awid @ 1
(a) oTfde far

(b) MY fpr

(c) oirEnte faewm

(d) e Tl

Human Development Index shows :
(a) Economic Development

(b) Agricultural Development

() Industrial Development

(d) Physical Capital

ArfiT foere Tl e 78 R 1
() FN &=
(b) & =™
(c) i &l
(d) FW e
P.T.O.
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The problem which is not related to rural
development is :

(a) Agricultural Credit
(b) Defence Expenditure
() Organic Farming

(d) Agricultural Marketing

(viti) TR TIiafeal & =spid qRacdl & S SRIse

e 1
(a) O SSFIR

(b) A ST

(c) HTEHD ST

(d) olEE SIS

The unemployment generated due to cyclical
Fluctuations of economic activities is :

(a) Cyclical Unemployment
(b) Seasonal Unemployment
() Structural Unemployment

(d) Industrial Unemployment
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FABT [F =T T qa & a7 T -

State whether the following statements are true
or false :

(ix) ordfeme, fas=r qEm ®am QA Bl 1

Economics is science and art both.

(x) Efd fadRer & MR W H@en, dfed qr
ITEfEd, & YHR H el 2 1

Frequency distribution is of two type i.e.
Discrete and Continuous.

(xi) HHAY HTed, 9REYCT H OHAGS B 1
Arithmatic mean is the measure of
dispersion.

(xii) G Th A & FAlgh & B [ HIHH
2 1

Mining is a main business of tertiary sector
of an economy.

(xiii) SR GeEE S 1 SHEY, 1951 § @6 @B Bl 1

First Five Year Plan starts from 1st January

1951.

(xiv) R & AR e dad Fgd @l 2 1
India's balance of trade always remains
adverse.
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(xv) TEM H GHET HA B THE EWHA TS
ARAE @ R R 1

The main government agency for food grain
storage is Food Corporation of India.

(xvi) eI @ A ATIGUS | HIAT ST Tl ol 1

Poverty can be measured by Calorie norms.

(e SIS )

(Very Short Answer Type Questions)

2. gy qer fadees sliest § & o fafam) 2

Write down any two differences between primary
and secondary data.

3. A ffy g e offwet @ gEi® @ die 0 2

T | MR Y | OMER a¥ | O a¥ | = a9
T | WA R) | R | B R)

A 10 10 25 20

B 3 35 10 40

C 5 30 15 20

D 20 10 20 8

E 2 40 5 40
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Find out index value from the following data

using Pasche's method :

Items Base Base Current | Current
Year Year Year Year
Quantity | Price () | Quantity | Price (%)
A 10 10 25 20
B 3 35 10 40
C 5 30 15 20
D 20 10 20 8
E 2 40 5 40

4. YEHH B GRAM ST FEhih & & FHR TR

1+1=2

Define Index Number. State any two types of

index number.

5. W=l % 999 ARG orfedwen & fUseud & foheel
I HRON B GHY H T Hito| 2

of the

backwardness of Indian economy at the time of

Discuss in brief the four causes

independence.
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. ARa ¥ Y o & Pt ag P9-a § 7 2

What are the various sources of agricultural
credit in India ?

. AE et Frr @ e oref B 7 2

What is meant by human capital formation ?

. T foehr @ oTIT o gHEd E 7 2

What do you understand by Rural Development ?

(e )

(Short Answer Type Questions)

. THT 1 2 P T AW BT % I qd qazy|

1+43=4

What is Classification ? State the main
factors/characteristics of good classification.

TU8 MG & el ¢ YBRI HT aU it 4

Explain any four types of Bar Diagrams.
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Frefafa aifws! & f=ReT oTid I Hi - 4

w
g | 1| 2| 3| 4| 5|6 | 7|81 9]10

3% 53 | 58 | 25 | 30 | 54 | 42 | 32 | 48 | 46 | 52

Calculate the co-efficient of wvariation from
following data :

Serial
Number 1 2 3 4 5 6 7 8 9 10

Marks 53 | 58 | 25 |30 | 54 | 42 | 32 | 48 | 46 | 52

12,

13.

14,

1011

e OgdT & He-Hrg ol & IaeXVT died ARl
Eﬁml 4

Explain the Karl Pearson's method of calculating
co-efficient of correlation with example.

ST & fohrel 7¢ YRl &l STl i) 4

Explain any four types of unemployment.

WA d ol & g GG B4 8 ! WRd § Fol
T @ g TR JaET 24+2-4

Which are main sources of Energy in India ?
What are the two main problems of energy in
India ?

P.T.O.
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WA T e ol Aefeqaeeiatt & o Hio 4

Make comparision between economies of India

and Pakistan.

oM R e g faee § oA it 4

Distinguish between Economic development and

Sustainable development.

(TS 99 )

(Long Answer Type Questions)

TR faaeer &1 g9 715 Mehiian 6

T 0-2|2-4|4-6|6-8| 810

saft | 2 | 4 | 6 | 8 | 10

Find out the Arithmatic mean of the following

distribution :

Items 0-212-4|4-6|6-8| 810

Frequency 2 4 6 8 10
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OR
frrfeRad arfert & wfteeer @ o HIRTT

1=I\_T|'!,'_{{>[ 20-30 | 30-40 | 40-50 | 50-60 | 60-70

e | 25 | 12 | 15 13 5
e

Calculate the median in the following data :

Wage 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Number of 25 12 15 13 5
labourer
18. ¥ FEAH A oMU &1 g9 & ? ol e &

1011

IUTeEt H g HifoTT) 2:4-6

What do you wunderstand by Economic
Planning ? Explain the achievements of
Economic Planning.

G|
OR
qrg & onfdie e & STawadrell 1 auiF @I 6

Describe the features of Economic Planning in
India.

P.T.O.
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19. A% Gai @ w1 REE & 7 FeiERe & SuEl &
qag | aoiF it 24+4-6

Which is meant by economic reforms ? Explain
in brief measures adopted for privatization.

CLC)]
OR
AYTNHIT T FAIBIOT Bl THY F IRy BT 3 +3 =6

Explain in brief Globalization and Liberalization.
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